
Name: _______________________________________________ Date: ____________________ Period: ____________

Write your question #1 here:

Write your question #2 here:

56) The diagram below represents a temperature field in

degrees Celsius. What is the approximate temperature

field gradient between points X and Y? [Refer to the

Earth Science References Tables.]

A) 0.5 DC/m

B) 6 DC/m

C) 2 DC/m

D) 3 DC/m

57) A stream has a source at an elevation of 1,000 meters. It

ends at a lake that has an elevation of 300 meters. If the

lake is 200 kilometers away from the source, what is the

average gradient of the stream?

A) 1.5 m/km

B) 3.5 m/km

C) 15. m/km

D) 10. m/km

58) To an observer in Buffalo, New York, the North Star,

Polaris, is always located above the northern horizon at

an altitude of approximately

A) 90D

B) 66 D

C) 43D

D) 23 D

59) The diagram below is a contour map. Between which two

points is the slope of the hill steepest?

A) C and D

B) A and B

C) A and D

D) B and C

60) As a person travels due west across New York State, the

altitude of Polaris will

A) decrease

B) increase

C) remain the same

Questions 61 and 62 refer to the following:

The map below shows the latitude and longitude of five

observers, A, B, C, D, and E, on Earth.

61) Which two observers would be experiencing the same

apparent solar time?

A) A and C

B) B and E

C) B and C

D) D and E

62) What is the altitude of Polaris (the North Star) above the

northern horizon for observer A?

A) 10D
B) 80D

C) 90D
D) 0D

63) The diagram below shows the tilt of Earth on its axis in

relation to the Sun on one particular day. Points A

through E are locations on Earth's surface. Point D is

located in the eastern United States. The dashed line

represents Earth's axis.

What is the latitude of location A?

A) 0D

B) 23 D N

C) 90D N

D) 63 D S
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Write your question #3 here:



Name: _______________________________________________ Date: ____________________ Period: ____________

Write your question #4 here:
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Write your question #5 here:

Write your question #6 here:

Write your question #7 here:


